Lj A sin 3-7C(—'—""“

(= &2, w———- k= \cqgt
Y= Asn (wt - kx)

7% 3.

()
(Wt- kx) E/EABOeF2, 04" - o2 F xz#23.

L=t ors x=x @ t= trot pr¥ X=ax = ¥ BAlked3
ZAB O A—® 0 AZF LEA2\ 3n=n

Wt -kx = wlt+st) — (X +ax)
)0 w4t — kax

(n)
FREX o 3670 Ry AT K. A3 3L,

(j: gl"'[dl
= As'm {Cwuw)t - (l<+4}<)xj-
+Asin {(w-swrt - (k=ak)x}

= Asin {(wt kx)+ (awt - Akx)}
+ Astn {Qut — k)~ (awt -k}

2

4‘2%92. l’\.4 L
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(0) % %
= Asin (A+B) + Asm (A—-B)
= 2Acos BsinA

=27 Cos (AWt —sfx) sin (wt-kx)
(=)

(1) 2A Cos (swt-skx) o Kén o &= Uy ©AA3.

AeRFE =227
(t=t. X=x oft#B) = (f=t+at X =Xtaxa FR)
AW T —skxX = Aw(t+st) — ak (X+ax)
> 0 = AWAt — akay
2 it =5k (U
— %

(=) {548 2K Vp=AL Ar§ra = b5,
Wy = Vps

W, Wy,
2 S = —
kl kz

Wtaw - W —aWw
le+ake fe—ak
> (UU"‘A\U) (I(-dk)z (w "AW)(IC'*"F)

> Wk.—w4k+4wk - A‘wd‘lc -w[<‘+uu4k—4w[< —Aw#k

= sWk = UJAk

P

W AW
kK~ 4k
ST = 1
p G
=y
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(F) #8A7E3 RA02 2odft Uy =2y, L5574

7o Ty o SER..
W=y &k
R ¥ €Y {LEST, TE S

W+ 40 = \/g.(,k-uk)
YER. AW =00 2 REL &y

1
2

- 2
W +4w @F(HT
A
= 0gF ()
_ ak
= hEY
w
4W = Eﬂ:ﬂdk

w aW .

T 25

- N

D U
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